. VCE & PDF https://www.pass4itsure.com/1z0-1082-20.htmi
g 2024 Latest passditsure 120-1082-20 PDF and VCE dumps Download

PassditSure.com

170-1082-209%A8

Oracle Profitability and Cost Management 2020 Implementation
Essentials

Pass Oracle 1Z20-1082-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/1z0-1082-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest 120-1082-20 Dumps | 120-1082-20 PDF Dumps | 1Z20-1082-20 Braindumps 1/4


https://www.pass4itsure.com/1z0-1082-20.html
https://www.pass4itsure.com/1z0-1082-20.html
https://www.pass4itsure.com/1z0-1082-20.html

. VCE & PDF https://www.pass4itsure.com/1z0-1082-20.htmi
a 2024 Latest passditsure 120-1082-20 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which type of application Is created In Profitability and Cost Management?
A. Management Ledger

B. Financial

C. Standard

D. Cost

E. Detailed

Correct Answer: C

QUESTION 2

Given the following possible actions:

1.

Register a Source System

2.

Register a Target Application

3.

Create an Import Format

4,

Define a Location

5.

Create a Point of View

6.

Define mappings for Period and Category
7.

Define mappings for all dimensions

8.

Define mappings for only those dimensions requiring mappings

9.
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Create a Data Load Rule

What are the required steps in Data Management to create a data Integration for Profitability and Cost Management?
A.1,2,3,4,8,0

B.1,2,3,4,5,6,7,9

C.1,2,3,4,5,6,8,9

D. 1,2,3,4,6,8,9

E.1,2,3,4,6,7,9

Correct Answer: A

QUESTION 3

Which types of dimensions do you use to define model views?
A. Business dimensions only

B. Business dimensions, POV dimensions

C. Business dimensions, POV dimensions. System dimensions
D. POV dimensions. System dimensions

Correct Answer: C

QUESTION 4

Your business process includes a series of allocations where administrative costs are allocated from HR to TT and
Finance, from IT to Finance and HR, and from Finance to HR and IT.

Which calculation option should you select for the rule set that Includes these allocations?
A. Iterative Execution

B. Circular Execution

C. Batch Execution

D. Serial Execution

E. Parallel Execution

Correct Answer: A
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QUESTION 5

Which two statements are true about the Rule Balancing table?

A. The default model view Includes the top members across all business dimensions.

B. It shows the potential effects of an allocation before you run It.

C. It Includes the Initial Input value, as well as allocations In, allocations out, and offsets.
D. It shows information for all rules in the selected rule sets.

Correct Answer: AC
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